EURERE | 2017/5/5 HHE A R
B4 5 LRI X P i R gk
B4 TUNC YT AT AR T I e EE BAIN Fnsk
FEARL (s mikE LB Rt 4 BrisEdn
B £+ &A 1AL 2L 3fiL AL 5L 6fiz T 8L
EE ORE 23.88 (+0.9) [\ 2= 24.11 (+0.9)[EE = 24.47 (+0.6)[FLh K 24.56 (-0.1) BH =& 24.69 (+0.9) AN S 24.74 (+0.6)
BB AMF HR AR F HR BT HR - Big /\greR - EHB
RIS F SABH - 200m TFH R 24.56 (+0.9) e 24.69 (-0.1)
FR-Alh HR-FNRE =P
556 | 400m Bis sk 52.18|1k8E Ktb 54.54| = 27518 54.86|8hA KE 54.95|17/H KN 55.39|E BN 55.54 |7 (B 55.63|3EkE PR 55.80
BB AT R -Ailp R BEHAH 73 - I BRIB AHH HR-FNRE AT HR - HR AR k- EHET
556 | soom R & 2:09.8432 HmME 2:10.06|uili  KHE 2:1424|=32 RE 2:14.74|HF AKX 2:15.06|%8x  BEX 2:15.22| 1k 2:15.53| =18 —F 2:15.86
K- K5F R N R MRS =5&-EmH HR g BB -NBEH R R ARH
556 | 1500m =2E A 4:15.03 |7 Bt 4:15.40| % {FIR 4:19.35|8 XH 4:21.63|MFH  #IE 4:21.80|1&8 S 4:23.18]/) bk 4:25.110/L0 —X 4:25.13
- HHEF #m- il HR - IFT R R NE - BHET R AHET HR - BRI #R- AR
550 | 3000m N B 9:04.35|8 K& 9:11.36| AR K 9:11.97| =38 i 9:16.53 |18 FRR 9:19.59|JFEHR KR 9:32.85| 1 F  RIE 9:35.75| %% B} 9:40.26
R HERERF Him - B R R EER - HHEP R IFT R HR-FRE AT HR-BHET k- HHET
558 | 1iom tH -5 15.01 (0.0) [hit i 15.56 (0.0)[t£E = 15.59 (0.0)[FE &=} 16.40 (0.0)(#2% 4G} 16.88 (+0.3)[(AIN  JBLARA 17.01 (+0.3) (AN BEAEB 17.15 (+0.3) /A K&k 17.34 (0.0)
R IR T Fm- AT R EET R R IR HR BEHATR HR - A HR- Tl BRI NBES
- KA A4 BAFTR-ALH A 4640|308 - = FA 46.85 (305 - IR F 46.87 (305 - AFH 46.88 |3 FHFA 46.97 [#18 - /N #HHRA 4719|305 - BHEFBA 47.29
Hig —F FFH R WA teEE AN A il B8R JIR K ki #3 EAR 2t
5/150 | 4x100mR |FE =t £ Rt IRT 3AF) & mz % A 2N EH OE£EB S
i S 5 38 5% = tH -5 s —F N S PE K AR IR
v i BE K TE thE I EEEg R KE BH AT Tk fak R RN
[ — TR B L76|BE 04 1.76|AH &N 1.73|FE OAER 1L70|=8 #®EK 1.55|M8 A 1.55|3kFH Bt 1.50|B3)II ¥R 1.50
i BEEE R IEERF BEA-RBEF A RBEF R -BES HoR-IRE—h FoR-IREET FoR-IREET
HH EEH 2,90tk A 2.60|MY #ER 2501k sEk 240/ B&E 230(EF%E ER 230|BR tE 2.10(7EfE BR 2.00
SHEH | Hempt R AP FR-ALP HR-ALP #R-ALP HR AL HR - AR R HR-ALF #B-ALF
MR BXR 2.00
E R bk
R — KHE OB 5.95 (+0.1)|#Z1L b 5.89 (+1.1)[;T)II  &5R 5.87 (+0.5)|FA% IR 5.59 (-0.5)[FH ==t 5.52 (+0.1) |/l KE®L 5.52 (-0.6)[[BH WX 5.47 (0.0) iR This 5.38 (+0.1)
i BEEE bR R BES HOR IR K- K&H B - NBEH - K&+ HR - NE
shse | foou "R WE 10.68(&E8 FEE 10.42(#pA  #3t 9.82[3RA £ 9.48[/1\)Il mE 9.27|hF EBEHF 9.09[EH & 9.08(=f & 9.03
R INEE—F HR M)l HR - MR HR MR HR - BTP HR-ALF HR-ALF HB - AFEH
A i— iR OR 2067/ R HRE 2000|B9i3 230 1626(tHE 1% 1621[il iz 1550
i BPEP - B R R IRERR Fm- Al - FEE—p
5450 | 110mH 16.76 (-0.2) 17.04 (-0.2) 21.09 (-0.2) 19.76 (-0.2) 19.33 (-0.2)
S5H5H [ fustux 10.07 9.56 9.32 8.04 9.19
5H5H | bk 1.50 1.50 1.65 1.55 1.45
5A5H | 400m 56.56 56.72 1:00.11 58.71 1:01.72
wen T | sasa | 1oom BE HmE 11.98 (+0.4)|41R X 12.05 (-0.4)|[#kH# #Z 12.15 (+0.4)|B® & 12.20 (+0.4)|[lLE X 12.22 (+0.4)[)IIA &2 12.29 (-0.4) | A+ BBk 12.30 (-0.4) |7k £ 12.39 (+0.4)
R IRFHFEH P Ea ik HR - K H R INEE FR - Ll - SHP e AHEF Frif - gt
VX i 1149 (0.0)[+H —5& 11.74 (0.0) Him —F 11.76 (0.0)[&ZFa =3} 11.77 (-0.2) |8 i 11.81 (+1.1) =R R4 11.83 (-0.2) 5T/l &35 11.91 (0.0)
sent | 550 100m R KPR R BABF HR - K H BRE - KfH HR-IERE—F BRE- KHF HR-BIEF
IR W& 11.74 (0.0)
i BPEE




RS &1 26.72 (+0.4)|BR LA 27.20 (+0.4)[+E ®W 27.66 (+0.4) (&L F4 27.67 (+0.4)[ILAt  HkE 27.69 (+0.2)[shk AR 27.70 (+0.4)|BfE U7 27.71 (+1.0)|=hE] =X 27.84 (+0.2)
st | 5558 | 200m PN e BEHH i BFE i B R Him-EERp Hiim - AR s LAFES +E|ET-T:%EP
B8 EX 27.84 (+0.2)
=&-B—
sAsE | soom EE EHR 2:24.31| k&)l BX 2:26.79|315 BT 2:26.95| )1 #H 2:29.15| ARE  HE 2:29.51|8%K A 2:29.61|BER  FRIEE 2:30.72|/NIl BAE 2:31.55
e BixE e s P - N E R i BEF Hiim -/t ep Hiim - B 7% IR EF Him- BEF
5550 | 1500m EHE BR 5:03.59(HHE HHY 5:09.17 | FH 5:10.59[#E #5x 5:12.99|3#18 F T 5:14.08|=18 =Tt 5:14.58[/h&  ZEBK 5:15.01{/MII BHE 5:17.32
R s i i - HORIAE Hiim -/ tep i =R 7% R Ed s HUB R B +BE-FE&H i B EF
EIIT 15.20 (+0.2)|#R  #51h 1551 (+0.2) A HEE 15.66 (+0.2) |k BARZ 15.91 (+0.2)|t&#E BT 15.96 (+0.2)|F8E HH&E 16.30 (+0.2)|AL 1 16.55 (+0.2) (s @ 16.85 (-0.7)
sasn | 100m i Tl #iim- Tl i HORER H R s i i T i A Hime £l Him- R A
f NI 16.85 (-0.7)
Him- R A
FR- T LA 51.31[F0R - IR FFERFA 51.97[#0R - BEF+ 52.57 |F0R - HURMES 52.72|F0R - =EAHRA 52.76 (¥R - EFEH 52.82|%MR - NEFH 52.89 % EERFR 53.62
INE BT AHR BAE 218 x=mx AR 28 EE Bk 2R FELT &g % A+E EA
5A5H | 4x100mR |#5)1] #2 G HE BRI ®Z Bz ol s %A WA B i)l EE LA &
R #EE Ha 29 BE En AE BEH &H WE K& #BH $A Eh FEE B%
L & [ E 2 BR LA TR KEER EK T +H HL» il TR LA k&
R — [Ifmyts L46|H+E EA L40[HR  BiK L4o[#s3H 2 1.35|E1E =t 1.358%2 %% 1.35(2ue 1.35(/p £z 1.35
- FESEAR - FESEATR Hi - BHF Him-BEF - FEE R Hm- ALl e SEFHH Hiv - AU
oo |EL E 2.30| B8 & 1.90)iE1  HAY 1.80
SHSH | WBEBE | g 58 EIRS B EL S
R B BB 5.18 (-0.2)[FH i@ 4.89 (+0.7)|32)ll & 4.65 (+0.5)|#% #5 457 (+0.4)|BF K2 456 (+1.1)|#K T8 450 (-0.5)| &1 == 433 (-0.4)|RBN 4.30 (0.0)
=&-F—F PPN R N i B - HHP Hiim /it - FEE —f RN
sash | mas B o HhY 11.10(&F ®=x 10.55|&L BB 10.12| B 2Rk 10.07|1A)I1 AE 991[%=F V47 9.72|EE HE 9.31| R #A 9.16
s ARE—F - FESEATR R INARF + B - TR Him - BFEE R AHET Hivm - IR e B
sash | mamssts HE =R 2313(Hs  EBH 2066|FH 0= 1991k B 1749|a1E  EE 1487|HF EFx 1469|BH HTH 1426|tkE &% 1418
FHim- Tl Hm - R Him-FEE R Him - EA Him - FUB AL R i AR Hiim - FE A P AR E R
550 | 100mH 16.09 (+0.3) 15.63 (+0.3) 17.32 (+0.3) 17.43 (+0.3) 18.97 (0.0) 18.78 (+0.3) 18.77 (0.0) 19.59 (0.0)
5A5H | bk 1.56 1.30 1.30 1.25 1.20 1.25 1.15 1.25
SH5H [ st 8.44 6.66 9.32 7.35 7.66 6.37 7.80 6.26
5A5H | 200m 29.85 (0.0) 28.61 (0.0) 29.25 (0.0) 29.97 (0.0) 31.14 (0.0) 31.16 (0.0) 31.83 (-1.2) 30.71 (-1.2)
B KEER 13.10 (-0.5)|/NiE  BF 13.24 (-05)|£H &L 13.30 (-0.5)|&fE 0% 13.37 (-0.5) |t BEE 13.46 (-0.5) RIE =4 13.74 (-0.D)|X#8 BFE 13.75 (-0.5)
. i - FORIAE § Him- TR Him - BFE s &AER e RS AR Hiim - A Hiim -/t
2 | SHSH L 100m i 134661
i EE T
gL FR 13.04 (-0.4)|ER LA 13.11 (-0.4) | RS & 13.14 (-0.4) R B 13.30 (-0.4)|{ER RE 1331 (-0.8)|$9k =i 13.34 (-0.8)|FE 2 13.35 (-0.8)
. R N s BEHH PPN el Cas i R @EPE(R) Hii - AR =%&-%—F
34T | 5HA5H 100m R XV

+HET- F&T




